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Geometry: 4.6 HL Theorem Worksheet
[
1.) Are the triangles congruent? If they are, give a reason. (5SS, SAS, ASA, AAS, or HL Thearem)

al g b)

e}

HL CGongrience Theorem Determine whether you can use the

Name:

SAS
MoT
N&& E’f% P
338
5
™
r
F A
I
SAS

-,
__{

NSRS

Period;

c)

f)

HL Congruence Theorem to show that the triangles are congrusnt.

Explain your reasoning.

12.

SAS  we Aot ngo
’ if‘h‘j P RN S




PROOFS:

4.) PROOF:

5.) PROOF:

3.)Logical Reasoning Fill in the missing stalements and reasons.

Given > BD = FD 8 F
Dis the midpoint of CE.
ZBCD and £ FED are vight angles.
Prove & ABCD = AFED
I i E
Statements ) Reasons B
1. BD=FD 1. Chvesr

2. Dis gridptoh CE

. o YeEn

4. /BCD and / FED are
right angles.

ABUD el DEED are

right triangles.

bl

. ABCD = AFED

[}

Given: 7P L :@, AP = SP

Prove; AATP = ASTP

2, Given
3, Definition of midpoint

4. Criverg

. Definition of right triangle

e, HL ¢

statements reasony
. TP i AS, AP = §P 1. Gpee
. <ATP and <STP are right angles 2. Do L
. AATP and ASTP are right triangles 3. ’j)g(ﬁ/\{ it L\‘S
TP % TP 4. Reflueie
. AATP = ASTP 5. ML
A B
Given: <D and <B are right angles, AD = cB : i PR A
Prove: AABC =2 ACDA ‘
D L
stateiments reasons
1. <D and <B are right angles, AD = CB 1L v

|3

. AABC and ACDA are right triangles
— Ao
P(C = Q_Jc’(

. AABC = ACDA

2. Dofn. vk N
. Redlonee

4 HL




Date

| Name !AN SWZLD Period

( seometry 21: LOTS of practice with Triangle Congruence Proofs!!! ©@
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- Given: NR = FE RO bisects ZNRP
Prove: OR bisects ZNOP
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Geometry 21: Practice with 4.5- Isosceles and Equilateral Triangles

| Given: AC = EG,C_D L AB
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2 Given: ZBAC = LBCA,EE = BE
Prove: /BDC = /BEA
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Find the values of the variables.
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